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Reg. No. : ......................................   

Name : ...........................................   
   
 

 
  Part – III Time : 2½ Hours 

  HISTORY Cool-off time : 20 Minutes 
Maximum : 80 Scores  

(Map Accompanied) 
 

 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of  20 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 

    20   ‘  ’  .  

 ‘  ’     

 . 

      . 

    . 

  , , ,    

. 

   . 
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1.  Match Column ‘A’ with appropriate items from Column ‘B’.  (4  1 = 4) 

            ‘A’          ‘B’ 

Australopithecus The Wiseman 

Homo Habilis The Upright man 

Homo Erectus Southern ape 

Homo Sapiens The tool maker 

 

2. Choose the correct answer from the given alternatives : (8  1 = 8) 

 (A) The Lazaret cave is situated in : 

  (a) England (b) France 

  (c) Kenya (d) South Africa 

 (B) The founder of Umayyad dynasty : 

  (a) Muawiya (b) Abu Bakr 

  (c) Abd al-Malik (d) Marwan 

 (C) The author of Almagest : 

   (a) Aristotle (b) Alexander 

   (c) Euclid (d) Ptolemy 

 (D) The father of New Persian Poetry : 

   (a) Abu Nuwas (b) Ibn Sina 

   (c) Rudaki (d) Umar Khayyam 

 (E) Who was the first to dissect the human body ? 

   (a) Andreas Vesalius (b) Donatello 

   (c) Ibn Sina (d) Giotto 

 (F) Who designed the Duomo of Florence ? 

   (a) Dante Alighieri (b) Petrarch 

   (c) Filippo Brunelleschi (d) Michelangelo 
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1.  ‘’   ‘’    
.     (4  1 = 4) 

            ‘’          ‘’ 

   

    

    

    

 

2.       : 

      (8  1 = 8) 

 (A)      : 

  (a)  (b)  

  (c)  (d)  

 (B)    : 

  (a)  (b)  

  (c)  - (d)  

 (C)    : 

   (a)  (b)  

   (c)  (d)  

 (D)     : 

   (a)   (b)    

   (c)  (d)   

 (E)      ? 

   (a)   

   (b)  

   (c)   

   (d)  

 (F)     ? 

   (a)    (b)  

   (c)   (d)   
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 (G) The term ‘Renaissance Man’ denotes : 

   (a) A wealthy person (b) A person with many interests and skills 

   (c) An educated person (d) A person having university degree 

 (H) A ‘Socialist man’ was the idea of : 

  (a) Deng Xiaoping (b) Sun Yat-Sen 

  (c) Chiang Kai-Shek (d) Mao Zedong 

 

3. Arrange the following in chronological order : (4  1 = 4) 

  Long March in China 

  The Great Leap Forward Movement 

  Established Peoples Republic of China 

  Formation of Chinese Communist Party. 

 

4. Mark any 4 of the following on the outline map of the World provided : (4  1 = 4) 

 (a) Mediterranean Sea 

 (b) Sahara Desert 

 (c) Constantinople 

 (d) Rhine River 

 (e) Damascus 

 (f) Baghdad 

 

 Answer any 6 questions from 5 to 15. Each carries 2 scores. (6  2 = 12) 

5. Write any two ways through which the early humans obtained food. 

 

6. Assess the contributions made by the Mesopotamian people in the field of time 
reckoning. 

 

7. Write any two reforms of Constantine. 

 

8. Mention any two administrative reforms adopted by Diocletion. 



FY-434  5 P.T.O.  

 (G) ‘ ’    : 
   (a)    
   (b)     . 
   (c)   . 
   (d)    . 

 (H)  ‘ ’    : 
  (a)   (b)  - 

  (c)  - (d)     
 

3.      : (4  1 = 4) 

     
       
     .  
      .  
 
4.       

 .   (4  1 = 4) 

 (a)   

 (b)   
 (c)  

 (d)   
 (e)  
 (f)  
 
 5  15   6  . 2        

.    (6  2 = 12) 

5.         
.  

 
6.       

.  
 
7.     .  
 
8.      

.  
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9. Define Calligraphy and Arabesque. 

 

10. Write a short note on the Courier system of Genghis Khan. 

 

11. Prepare a short note on Yasa. 

 

12. Mention the contributions of Michelangelo. 

 

13. Name the two leaders of Protestant Reformation in Switzerland. 

 

14. Write a short note on Ignatious Loyola. 

 

15. How did the Agricultural Revolution lead to the Industrial Revolution ? 

 

 Answer any 2 questions from 16 to 21. Each carries 3 scores. (2  3 = 6) 

16. Briefly explain the geographical features of Mesopotamia. 

 

17. Mention the reforms of Abd al-Malik. 

 

18. Write a short note on Cathedral towns. 

 

19. What do you mean by Copernican Revolution ? 

 

20. How far the ‘Gold Rush’ is responsible for the Industrial growth of America ? 

 

21. Write any three educational reforms of Meiji Government. 
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9. ,   .  

 

10.        .  

 

11.      .  

 

12.   .  

 

13.       
.  

 

14.       .  

 

15.       ? 

 

 16  21   2  . 3                 

.    (2  3 = 6) 

16.     .  

 

17.  -  .  

 

18.       .  

 

19.        ? 

 

20. ‘ ’    
   ? 

 

21.       
.  
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 Answer any 4 questions from 22 to 30. Each carries 4 scores. (4  4 = 16) 

22. Explain the Replacement Model and Regional Continuity Model of human origin. 

 

23. Explain the process of Cuneiform writing on clay tablets. 

 

24. Analyse the social groups of Early Roman Empire described by Tacitus. 

 

25. Briefly explain the Abbasid Revolution. 

 

26. Evaluate the military organization of Genghis Khan. 

 

27. Assess the role of universities in developing humanism. 

 

28. Describe the measures adopted in ancient Rome for controlling workers. 

 

29. Explain the different motives behind the Voyages of Exploration of Europeans to 

America. 

 

30. How did Cortes Conquer the Aztecs of Mexico ? 

 

 Answer any 2 questions from 31 to 36. Each carries 5 scores. (2  5 = 10) 

31. Compare the features of Australopithecus and Homo. 

 

32. Mari was a prosperous trading centre. Elucidate the statement. 

 

33. Examine the causes of the 14th century crisis in Europe. 

 

34. The Industrial Revolution started in Britain. Why ? 
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 22  30   4  . 4                 

.    (4  4 = 16) 

22.        
  .  

 

23.      .  

 

24.       
 .  

 

25.     .  

 

26.    .  

 

27.     .  

 

28.       
.  

 

29.     
   .  

 

30.     ? 

 

 31  36   2  . 5       

.    (2  5 = 10) 

31.     
.  

 

32.     .   .  

 

33.  14-    .  

 

34.    .  ? 
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35. How did the Industrial Revolution affect the workers, women and children ? 

 

36. Examine the mutual perceptions between the natives and Europeans in America. 

 

 Answer any 2 questions from 37 to 40. Each carries 8 scores. (2  8 = 16) 

37. Analyse the contributions of Islam in the fields of learning and culture. 

 Areas to be considered : 

  Sufism 

  Geography and History 

  Literature 

  Architecture 

 

38. Explain the features of the three orders of Feudalism that existed in medieval Europe. 

 Hints :  

  The Clergy 

  The Nobility 

  The Peasants 

 

39. Examine the features of the State systems of Central and South America. 

 Hints : 

  The Aztecs 

  The Mayas 

  The Incas 

 

40. Analyse the major inventions and changes during the Industrial Revolution. 

 Areas to be considered : 

  Iron and Coal Industry 

  Cotton Spinning and Weaving Industry 

______________ 
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35.   , ,  
 ? 

 
36.       

 .  
 
 37  40   2  . 8       

.    (2  8 = 16) 

37.       
 . 

   : 
   

     
   

   
 
38.       

 . 
  : 
    
     
   

 
39. -     

. 
  : 

    
    
   

 
40.      

 . 

   : 
      
   ,   

______________ 
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